Assembly Instruction

exm.

To Maintain the integrity of this enclosure CSA and UL require it
to be installed as per the following instructions:

A- When mounting the enclosure to a wall or any other mounting surface,
please ensure that the sealing washer [6] is placed in between the
enclosure and the mounting screw

B- When the installation does not require the use of the pre-punched
mounting holes, then the supplied plastic hole plugs [1] must be used to
cover any hole that would remain open.

PART LIST
ITEM| QTY DESCRIPTION
4 | Plastic Hole Plug
1| M6 x 20mm Ground Screw
3 | Ground Sticker
3 | M6 Nylon Insert Lock Nut
3
4
1
1

—_

M6 Flat Washer

M10 Sealing Washer

M6 Internal Tooth Lock Washer
Tapping Screw (Ground)

1| Ground Wire

STK-Q-80250

O o Nolo| bW




Pour garder ce boitier étanche, CSA et UL exigent que
L'installation soit faite selon les instructions suivantes:

exm.

A- Lors d'une installation sur un mur ou autre surface de montage, s'assurer
que la rondelle d'étanchéité [6] est bien positionnée entre le boitier et la vis

de montage

B- Lorsque l'installation ne requiert pas I'utilisation des trous de montage

déja percés, couvrir ceux-ci avec les bouchons de plastique [1] fournis.

LISTE DE MATERIELS
ITEM | QTEE DESCRIPTION
1 4 | Bouchon de Plastique

Vis de M.AA.L.T. M6 x 20mm

Etiquette de MALT.

Ecrou Garniture en Nylon M6

Rondelle d'Etanchéité M10

Rondelle Dentée M6

O N~ WD

1
3
3
3 | Rondelle M6
4
1
1

Vis Taraudeuse MAAL.T.

9 1 |FildeMALT.

STK-Q-80250

Instruction D'assemblage
5412 ES / 5412 ESS / 5412 EAL / 5412 ESA / 5500 ESY




